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s, (t)= S, cos[y (B, + GX,)t] 0810

5,0 (1) =S, sinly (B, + GX, )1] 0820
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gobooooboobooboboooo

s, (t,0) =8, cos[y G(x, cos @+ y,sinO)¢t] 0 8-40
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5,.(t,0)= 8, cos[y G{(x, +v.t)cos@+ y,sinf}t] 0 8-60]

8, (8,6)==S,sin[y G{(x, + v t)cos& + y,sinG}] 0870
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5, (,0)=S, cosly G{(x, +v,At)cosE + y,sinO }t] 0 8-1001

8, (t,6) ==S,sin[y G{(x, +v At)cosG+y,sinB}¢] 0 8-110
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s, (k,m) = cos[2x 7 x 42.58x10°x 0.12x 107 x u(k,m)x 0.15x kx10™] 0 8-120
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s, (k,m)=—sin[2x 7 x42.58x10° x0.12x107* xu(k,m)x 0.15x k x107*] 0 8-130

good

u(k,m)=(0.5+0.15xkx10™ +[54~m]x0.15x1.0) x cos(2x 7 x m/128)
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5, (2,0) = S, cos[y G {x, cos O+ (y, +v,t)sin0}¢] 0 8-150
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8, (1,0) = =S, sin[y G {x, cos @ +(y, +v,t)sinG}] 0 8-160
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5, (1,0)=S, cos[y G{x,cos0+(y, +v,t+nv TR)sind}] 08-170
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5, (1,0) =S, cos[y G{x,cos 0 +(y, +v, At)sinb }1] 0 8-190

8, (8,0) = =5, sin[y G {x, cos @+ (y, +v, At)sinO}] 0 8-2000

I]I:IDD:IB-l?I:D:IS-lSD[IDXDDDDDDDDDDDDDDDDDDVYD0.150m/sDDDDyEIDEI
OO0O0OmbO54007400000000000000000DAO

s, (k,m) = cos[2x 7 x42.58x10° x 0.12x10™* x u(k,m)x 0.15x kx10™*] 08210
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